4(NC).

Math 256B. Homework 6

Due Wednesday 6 March
[This exercise generalizes II Ex. 5.9b.] Let A be a noetherian ring, let S be a graded
ring, finitely generated by 51 over Sp, and assume that Sop = A. Let M be a finitely-
generated graded S-module. By (IT Ex. 5.9a), there is a natural map «: M — T',(M).
Let X =Projs.
Show that the map « is an isomorphism in all large enough degrees; i.e.,

aq: My — T(X, M(d))

is an isomorphism for all d > 0. Use cohomology. [Hint: Use methods from the proof
of (IT1, 5.2).]
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